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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot ['VI pcterr’, 'VO pcterr’, 'VN pcterr’]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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P3-12

BriE) | BRI (FD) | ERE (EH/4) | BEBRERE (B/R) |[XKS EFRE

07:20 278 150.0 2.888 BBl BHiT7e07:20 RHMEF (RAEER)
07:50 278 150.0 2. 888 5 FiH#@07:50 KREEF (KREAEHE)
08:20 278 150.0 2. 888 5 FiH#A@08:20 KREFEF (KREERHE)
08:50 278 150.0 2.888 A FHR@08:50 KENFEF (RFEEREE)
09:25 278 150.0 2.888 i FiHRe09:25 KENFEFE (RAEREE)
09:55 278 150.0 2. 888 5 FiH#A@09:55 KREFEF (REEHE)
10:25 278 150.0 2.888 A FHA@10:25 KREIEF (REAEHSE)
10:55 278 150.0 2.888 i FiHR@10:55 KEFEFE (RFEEREE)
11:25 278 150.0 2. 888 5 iHe11:25 REEF (REAEBE)
11:55 278 150.0 2. 888 i FnHR@11:55 KREFEF (REEREE)
12:25 278 150.0 2.888 i FiEA@12:25 KREIEF (REEESE)
12:55 278 150.0 2. 888 5 FiHA@12:55 REEF (REAEHE)
13:25 278 150.0 2. 888 5 FHA@13:25 REFEF (REAERSE)
13:55 278 150.0 2.888 A HR@13:55 KREFEF (REERE)
14:25 278 150.0 2. 888 5 iHe14:25 REEF (REAEHE)
14:55 278 150.0 2. 888 5 FHA@14:55 REIEF (REAEBSE)
15:25 278 150.0 2.888 A FnHfe15:25 REIRF (REERSE)
15:55 278 150.0 2. 888 5 FiHA@15:55 REEF (REAEHE)
16:25 278 150.0 2. 888 5 FiHA@16:25 REFEF (REAEHSE)
16:55 278 150.0 2.888 A FHR@16:55 KEIFEF (REEREE)
17:25 278 150.0 2.888 i FiHRe17:25 KREFEFE (REERSE)
21t 5838.0 (21)%) 3150.0 329353 KEC: 2080.0, PH: 5.8

FEIKECE (1847.0 vs 3873.0) id5




FRV (ml plant-1)

ET (ml/hr/plant)

P3-12_0, Day=70 (2025-06-11)

VI, V&SRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET 2aod 0%
2300

0.6 1 786 - 2000

- 1000
0.2 A 60

00 00

optEC0=2600. 0, setECB=2080.0 t

optPH0=6. 5, setPHB=5.8

0.2~

0.0 ,
I 4

400 E ' 4000

300 - ByWon:@D7O 01:50: ET=2496 Fg=3150.0 Ro:648.q_~—d////\\\\x//// *—@

- 3000

/ — - 2000
Al/ll TITII &

100 - - 1000

2 A

5 [ 16 [ 17 [ 18 [ 19 [ 20 ] 21 [ 22 [ 23
iE | A5 [ 5 | 85 | M5 | @ | B |[ZZ (%=

200 -

0.6 1

0.4+

0.2~

0.0

750 -

500 ~

250 -

_obs!, 'PPFD obs'] is missing

A A A

30 A

25 A

20 -

ning: col ['T

” 'To_obs’] is missing
15
90

80 -
70 -

60

Warning: lcol ['RH obs’, 'RHo obs’] is miss

0.6 1

0.4+

0.2~

00 T T T T
0.0 0.2 0.4 0.6 0.8 1.0

FRV (ml d-1)

cumET (ml/plant)



hour

:00 -

1356 -

145

:00

105

105

:05

105

105

:05

105

100

80

- 60

- 40

§_

%

Q)
)_{?
5
s
BN
4
%

%
LN
—&&

Y

2
%
L@

%5

2
N
L

&

§

&,

&

%
o
%

)
-

.

o %

3,



P3-12

FriE) [ EBIATK (FD) | ERE (EH/4) | BEBREE (/R |[XKS SRR

07:05 283 150. 0 2.888 BS| 1Ri%e07:05 Bz (GREMEEEE)
07:35 283 150.0 2. 888 BE| 1Ri%e07:35 B (RF{EREE)
08:05 283 150.0 2. 888 RS 1Ri&e08:05 Bah (FFEEREE)
08:45 283 150.0 2.888 BE| {Ri%e08:45 B (REAEHE)
09:20 283 150.0 2. 888 RS {Ri8009:20 Bz (REERSE)
10:00 283 150.0 2.888 el Ri8@10:00 Bal (REERESE)
10:35 283 150.0 2.888 RSl {Ri&@10:35 BHal (REAEHE)
11:05 283 150.0 2. 888 el Rige11:05 Bz (REAERSE)
11:35 283 150.0 2.888 sl Rige11:35 Bal (REAEESE)
12:05 283 150.0 2.888 el Rige12:05 Bzl (REAEHSE)
12:35 283 150.0 2. 888 BE| Rige12:35 Bz (REAERSE)
13:05 283 150.0 2. 888 el Rige13:05 Bal (REAEESE)
13:35 283 150.0 2.888 B 1Rige13:35 Bzh (REEESE)
14:05 283 150.0 2.888 BS| 1Ri%e14:05 Bz (GGREMRESE)
14:35 283 150.0 2.888 S| Ri%e14:35 Bz (REERSR)
15:05 283 150.0 2.888 BE| Rige15:05 Ba) (REAEHSE)
15:35 283 150.0 2.888 BS| 1Ri%e15:35 B (GREMEESE)
16:05 283 150.0 2. 888 S| 1Ri%e16:05 Bz (RF{EEEE)
16:35 283 150.0 2.888 sl {Rige16:35 Bl (REAEHE)
17:05 283 150.0 2.888 el Rige17:05 Bz (REAERSE)
21t 5660.0 (20)%) 3000. 0 3ZHKEC: 2080.0, PH: 5.8

MEREHLER 2 5 MEIELRT (184.0
ZRIALBRERE150. 0 ml.

150.0), AIEEHT—@ % XA HS

large discrepency for begining water status (329:69.0), set to 329 ml.
BEEIKRECE (1887.0 vs 4103.0) T 5
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28.

28.

29.

29.

29.

29.

29.

28.

30.

30.

30.

30.

30.

30.

30.

29.

29.

29.

29.

28.

m=535, FV0=0

—0—

M_E

5&0 5&5
m=715,n FV0=0

30

25 H

20 A

750 7é5
m=855,n FV0=0

25 A

00 -

75 A

50 -

25

00 -

—0—

M_E

860

Bé4 866
m=1030m FV0=0

862

868

——

75 -

M_E

1030

1035 1040




T T T
600 800 1000

400
m=580,m FV0=0
50 - —— MW
49
48
47 -
46
580 585 590
m=755,m FV0=0
48 1
—— MW
47 -
46
45 -
44 -
755 760 765
m=890,m FV0=0
48 -
—— MW
47 -
46
45 -
44 -

890 895 900

m=440, FV0=0

50 A

49

48 -

47 -

46

45 -

—— MW

4&5 4%0
m=630,n FV0=0

50 A

49 ~

48

47 -

46

—— MW

s

Gé5 6&0
m=785,n FV0=0

48 -

47

46

45 ~

44 -

—— MW

i

750 765
m=925,n FV0=0

785

48 ~

47 -

46

45

-— MW

i

925 930 935

m=475, FVO0=0 m=535, FV0=0
53 - —— MW 50 —— mW
521 49 -
91 1 48
50 1 47 1
49 - 46 4
T T T T T T
475 480 485 535 540 545
m=675,m FV0=0 m=715,m FV0=0
—— MW 48 - —— MW
48 -
47 -
47 -
46 46 1
45 | 45
44 14
T T T T T T
675 680 685 715 720 725
m=825,m FV0=0 m=855,m FV0=0
—o— MW —— MW
471 48.0 -
46 -
47.5 -
45 -
47.0 4
44 -
46.5
43 -
825 830 835 860 862 864 866 868
m=960,m FV0=0 m=1030m FVO=0
49
—o— MW —— M
497 48 -
48 - 47
47 1 46
46 - 45 -
960 965 970 1030 1035 1040
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P3-12

FriE) | EBIATK (FD) | ERE (EH/4) | BEBREE (B/R) [XS SRR

08:20 283 150.0 2.888 |Z=| {Ri%e08:20 Bz (KREAERHE)
08:55 283 150.0 2.888 |Z=| {Ri%e08:55 Bz (KREAERHE)
09:30 283 150.0 2.888 |Z=| {Ri%@09:30 Bz (KREERESE)
10:05 283 150.0 2.888 |Z=| {Ri%e10:05 Bz (REAEHE)
10:50 283 150.0 2.888 |Z=| {Ri&e10:50 Bzl (KREAEHE)
11:25 283 150.0 2.888 |Z=| Bi%e11:25 Bz (REEESE)
12:10 283 150.0 2.888 |Z=| {Rige12:10 Bz (KREAEHE)
12:55 283 150.0 2.888 |Z=| {Rige12:55 Bz (KREAEHE)
13:30 283 150.0 2.888 |[/\i| 1Ri%@13:30 B3h (GREEESE)
14:00 283 150.0 2. 888 FH| 1Ri%@14:00 B3h (KAERSE)
14:30 283 150.0 2. 888 FA| 1Ri&014:30 B3 (RAEREE)
15:00 283 150.0 2.888 |Z=| {Ri&e15:00 Bz (KREAEHSE)
15:40 283 150.0 2.888 |Z=| 1BRige15:40 Bzh (KRAEESE)
16:35 283 150.0 2.888 |Z=| {Ri%e16:35 Bz (REAEHE)
29t 3962.0 (14%) 2100.0 3EHKEC: 2080.0, PH: 5.9

FEREHEME STEAEARS (184.0 : 150.0), AIEEAT—@%E XAHE5
ZRIAKFRERE150. 0 ml.

large discrepency for begining water status (300:93.0), set to 300 ml.
BEEIRECE (1897. 0 vs 4260.0) T 5



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-12_0, Day=68 (2025-06-09)

150 A

100 A

50

150 -

100 A

50 -

V1, V8RRV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET
2700

2208

088 1800 800
519

40 , e 60
Warning: lcol [FVI',| "FVO’'] missing

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

optPH0=6. 5, setPHB=5.9

Warning: lcol ['PHB’,| 'PHC’'] missing

400 4 ByInitH@D70 01:50: ET=1689 Fg=2100.0 Ro=399.0

300

200 -

100 -

i 3000
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- 2000

- 1000
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- 9000

400

]
300 A ByWon:@D7O 01:50: ET=1519 Fg=2100.0 R0o=599.0
200 -
100 -

1.0 A
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- 2000

- 1000

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23

0.6

0.4+
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1600

|
| _obs
PPFD_obs

°o® ﬂ. ® VP

cumET (ml/plant) cumET (ml/plant)

cumET (ml/plant)



660 860
m=615,n FV0=0

29. 4 -

29. 2

29.0

28. 8 -

28. 6

28. 4 -

6é0 655
m=830,n FV0=0

29. 75 A

29. 50 A

29. 25 A

29. 00 ~

28.75

28.50

Bé5 8&0
m=1020m FV0=0

30. 2

30.0

29. 8

29.6 -

29. 4 -

——

1020

1025 1030

27.50 A

27.25 A

27.00

26. 75 A

26. 50

26. 25 A

29.6

29. 4 -

29. 2 -

29.0 A

28. 8 -

28.6

28. 4 -

30.0 A

29. 8 -

29.6

29. 4 -

29. 2 -

29.0 A

28. 8 -

40

m=370, FV0=0

—.—
370 375 380
m=670,m FV0=0
—o—
670 675 680
m=865,m FV0=0
——
865 870 875

400

600 800

29.

28.

28.

28.

28.

28.

217.

29.

29.

29.

29.

28.

28.

28.

30.

29.

29.

29.

29.

29.

28.

m=415, FV0=0

m=525, FV0=0

T T
420 425

—o— M_E

75 1

50 -

25 A

00 ~

75 -

50 A

25 -

550 555
m=765,n FV0=0

:

T T
770 775

46 -

44

42

——

m=715,n FV0=0
7&0 7é5
m=910,n FV0=0
9%5 950
m=370,n FV0=0
3%5 3é0

765
m=965,n FV0=0
—&— M_E
9é5 9%0 9%5
m=415,n FV0=0
-— MW
4{5 450 4&5




m=525, FV0=0

51

50 -

49 -

48 -

47 -

46 -

—0—

M_W

525

T T
530 535

m=765,m FV0=0

52 -

50

48 -

46 -

——

M_W

765

T T
770 775

m=965,m FV0=0

51 1

50

49 -

48 -

47 -

46 -

——

M_W

965

970 975

m=615, FV0=0

51 1

50 A

49 -

48 -

47 -

46

—— MW

615

T T
620 625

m=830,m FV0=0

49

48 -

47 -

46

45 ~

—— MW

830

T T
835 840

m=1020m FV0=0

52

51 A

50 -

49

—o— MW

1020

1025 1030

m=670, FVO0=0 m=715, FV0=0
48 - —o— MW 51 4 -o— MW
50 -
47 -
49 -
48 -
46 -
47 -
45 - 467
T T T T T T
670 675 680 715 720 725
m=865,m FV0=0 m=910,m FV0=0
50
—o— MW —— MW
49 -
49
48 -
48 -
47 -
47 -
46 - 46 1
T T T 45 T T T
865 870 875 910 915 920
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Pa-i2 BT | CEBEK (D) | Efes (B | ERes (5/R) | Rk= E3
07:05 283 150.0 2.888 B 1Rige07:05 Bah (REEESE)
07:35 283 150.0 2.888 BE| {RRi&e07:35 Bz (REAEHE)
08:05 283 150. 0 2.888 BE| 1Ri%e08:05 B (RF{EEEE)
08:35 283 150.0 2.888 RS 1Ri&e08:35 Bzh (FRFEEREE)
09:05 283 150.0 2. 888 Ag| 1Ri%e09:05 B (KREERSE)
09:35 283 150. 0 2.888 BE| 1Ri%e09:35 B (RF{EREE)
10:05 283 150.0 2.888 S| 1Rige10:05 Bah (GREEREE)
10:35 283 150. 0 2.888 BE| 1Ri%e10:35 Bz (GREAERESE)
11:05 283 150. 0 2.888 BE| Ri%e11:05 B (RFA{EREE)
11:35 283 150.0 2.888 S| 1Rige11:35 Bah (REERESE)
12:05 283 150.0 2.888 el Rige12:05 Bzl (REAEHSE)
12:35 283 150. 0 2.888 BE| {Ri%e12:35 Bz (RF{ERE)
13:05 283 150.0 2.888 RS Ri%e13:05 Bz (REERSR)
13:35 283 150.0 2.888 B 1Rige13:35 Bzh (REEESE)
14:05 283 150.0 2.888 S| Rige14:05 Bz (REAERE)
14:35 283 150.0 2.888 S| Ri%e14:35 Bz (REERSR)
15:05 283 150.0 2.888 B 1Rige15:05 Bah (REEESE)
15:35 283 150.0 2.888 S| {Rige15:35 BHa (REAERE)
16:05 283 150. 0 2.888 S| 1Ri%e16:05 Bz (RF{EEEE)
16:35 283 150.0 2.888 S| 1Rige16:35 Bah (REERSE)
17:05 283 150.0 2.888 el Rige17:05 Bz (REAERSE)
17:35 283 150. 0 2.888 BE| 1Ri%e17:35 B (RF{EREE)
23t 6226.0 (22)%) 3300. 0 3 REC: 2080.0, PH: 5.8

TERRHLER 2 STEELRTF (184.0 :

ZRIALBRERE150. 0 ml.

150.0), AIEEHT—@ % XA HS

large discrepency for begining water status (329:106.0), set to 329 ml.
BEEIRECE (1927. 0 vs 3940.0) 5T 5




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-12_0, Day=67 (2025-06-08)

150 Fo—————F——————F——————F-—————F-—————F——————F——————F-—————f——————f——————F-————-F—— =
VI, VO &RV, ET — VI, VO, FVI, EVO, FRV, adjFRV, ET
2600 2700 2798gg 3000 =
100 + o]
848 - 2000 £
50 z
60 40 - 1000 £
Warning: lcol [FVI',| "FVO’'] missing
0 + - 02
( 4
200 A
- 30
150 -
(NN
100 + - 28 =
50
- 26
1.0
4
0.8
0.6 -
0.4 1
0.2 A
Warning: lcol ["WC1',  "WC2'] missing
0.0
0.8 optEC0=2600. 0, setECB=2080.0 t
0.6 -
0.4 1
0.2 A
Warning: lcol ['ECB’,| 'ECC’'] missing
0.0
o | OPtPHO=6.5, setPHB=5.8 t
0.6 -
0.4 4
0.2 ~
Warning: lcol ['PHB’,| 'PHC’'] missing
0.0 1
it! : : = = = A
400 - Bylnl‘tl@D70 01:50: ET=2484 Fg=3150.0 Ro=619.0 | 4000 ©
| s
300 A : - 3000 §
£
200 - : - 2000 =
' m
1
100 - , L 1000 3
b & 1
0 p——ap —‘! 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
s0d B | B | B B | BB | B | BB | B | KBE[B | KB|KB|B|KBI[B|B|K : E | B [ B | B [ B | 4000 2
. . = = = 1 8
300 4 ByEt @D67 19:06: ET=2471 EFg=2700. 0 Ro=nan — 3000 &
E
200 - '// \\\ : - 2000
1 L
o0 1 11 TITE N ) - o0
0 '_.ﬂ L 2 +‘ : J_ll_l_l_l_ll_l_l_l_l_l \-:— I 0
0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
O 0 0 0 N M M E 2 E S 2 W
300 4 ByWon:@D70 01:50: ET=2565 Fg=3300.0 Ro=696.0 4 ® 4 ® ® | 3000 %_
I e =
200 - : - N - 2000
' 11 h e
o : 2l TIILL 1000 &
1.0 . . :L - a— a— D— — 0
) 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23
A AR A A A AR A A A AR AR AR A AR AR A AR A RN R A A
0.6 -
0.4 1
0.2 A
0.0
1500 4 —_— u
[ ] | _obs
1000 + —@— PPFD obs
500 -
W e v {
)




T T T T
400 600 800 1000

m=550,m FV0=0
—&— ME
29. 2 A
29.0 A
28. 8
28. 6
28. 4
T T T
550 555 560
m=690,m FV0=0
30. 0 M_E
29. 8 A
29.6
29. 4 A
29. 2 1
29.0 ~
690 695 700
m=810,m FV0=0
30. 4 A ME
30. 2 1
30. 0
29. 8 A
29. 6
29. 4 A
810 815 820

m=385, FV0=0

27.5 -

27.0 -

26.5

M_E

T T
385 390 395

m=590,m FV0=0

29. 4 -

29. 2 -

29.0 A

28. 8 A

28.6

—o— ME

T T
590 595 600

m=720,m FV0=0

30. 2 A

30. 0 -

29. 8 -

29.6

29. 4 -

29. 2 -

—o— ME

it

755 750
m=840,n FV0=0

720

30. 75 A

30. 50 A

30. 25 A

30. 00

29.75 A

29.50

-o— ME

i
i

840 845 850

28.

28.

28.

28.

28.

29.

29.

29.

29.

29.

30.

30.

29.

29.

29.

29.

30.

30.

30.

30.

29.

29.

m=415, FV0=0

M_E

4é0 455
m=625,n FV0=0

GéO 655
m=750,n FV0=0

750

7é5 760
m=870,n FV0=0

j/k\

29.

29.

28.

28.

28.

28.

30.

29.

29.

29.

29.

30.

30.

30.

29.

29.

29.

30.

30.

30.

30.

30.

29.

m=495, FV0=0

—o— M_E

560 565
m=655,n FV0=0

0_

—&— M_E

GéO 6é5
m=780,n FV0=0

4 4

2 4

0 -

M_E

7é5 750
m=900,n FV0=0

780

8_

6 -

4 4

2 4

0_

—o— M_E

900 905 910




m=935, FV0=0 m=970, FV0=0 m=1005, FV0=0

-o— ME -o— ME - ME
30. 6 30. 6 30. 8
30. 4 1 30. 4
30. 6
30. 2 30. 2
30. 4 1
30. 0 30. 0 A
29.8 29.8 3021
29. 6 29. 6 30. 0
T T T T T T T T T T T T T
935 940 945 970 975 980 1005 1010 1015 400 600 800 1000
m=385,m FV0=0 m=415,m FV0=0 m=495,m FV0=0 m=550,m FV0=0
51 4 i
—— MW —— MW 51 —e— MW 48 P
46 - 50 1 47 -
50
49 46
44 49 4
48 18 45
42
47 A 47 4 44
T T T 46 - T T T 46 - T T T 43 1 T T T
385 390 395 415 420 425 495 500 505 550 555 560
m=590,m FV0=0 m=625,m FV0=0 m=655,m FV0=0 m=690,m FV0=0
—-@— MW —-— MW 48 —-@— MW —— MW
47 - 47 -
47
47
46 - 46 -
46 46
45 + 45 -
45
44 44 4 45
44
43 43 4
590 595 600 625 630 635 655 660 665 690 695 700
m=720,m FV0=0 m=750,m FV0=0 m=780,m FV0=0 m=810,m FV0=0
48
50
-@— MW - MW -@— MW -— MW
47 - 47 -
49 1 47 1
46 _
48 - 46
46
47 45 1 45
45
46 1 44 1 44 1
44
45 L T T T T T T T T T T T T
720 725 730 750 755 760 780 785 790 810 815 820



m=840, FV0=0

48

47 -

46 -

45 -

44 -

—— MW

T
840

T T
845 850

m=970,m FV0=0

47 -

46

45 -

44 -

—— MW

T
970

T
975 980

m=870, FV0=0
—— MW
48
47
46
45
44_ T T T
870 875 880
m=1005n FVO=0
—— MW
47
46
45
T T T
1005 1010 1015

m=900, FV0=0
—— MW
48
47
46
45
44 4
T T T
900 905 910

m=935, FV0=0
491 —— MW
48 -
47 4
46 1
45 4
T T T
935 940 945




hour

:00 -

140 -

140

145

145

145

145

145

145

145

145

NY

%

&2
N
/gge)
A,

&

%5
N

%
%@“

K
-

:l&&

&%‘

.

%

.

%

N
“%

7R

>
%,
% S

2

o
-

5

§_

p
2

100

80

- 60

- 40



P3-12

BYiE) | GEREK @) | ERs (EA/H) | EBREE B/ R | X8 ERR

07:05 283 150.0 2.888 i B218@07:05 Bzh (FRAKEESE)
07:35 283 150.0 2. 888 RS B2i%@07:35 B3h (RF{EREE)
08:05 283 150.0 2.888 5 B21%@08:05 Bzh (FFAEEE)
08:40 283 150.0 2.888 5 B218@08:40 Bzh (FAEEE)
09:15 283 150.0 2. 888 RS B2i%@09:15 B3 (RFERESE)
09:45 283 150.0 2. 888 5 B21%@09:45 Bzh (FAERESE)
10:15 283 150.0 2.888 i BRi&@10:15 Bz (GRBERE)
10:45 283 150.0 2.888 5 B218@10:45 Bzh (RFAKRESE)
11:15 283 150.0 2. 888 5 Bige11:15 Bzh (GRAERESE)
11:45 283 150.0 2.888 R BRige11:45 Bzl (GRPFERE)
12:15 283 150. 0 2.888 5 Bige12:15 Bzh (RAKRESE)
12:45 283 150.0 2. 888 RS Bi%@12:45 Bzh (GRAERESE)
13:15 283 150.0 2.888 R BRige13:15 Bzl (GRPFEREE)
13:45 283 150.0 2.888 5 Bi8@13:45 Bzh (RAKESE)
14:15 283 150.0 2. 888 iS5 Bi%e14:15 Bzh (GREA{ERE)
14:45 283 150.0 2.888 5 Big@14:45 Bzh (RAERESE)
15:15 283 150.0 2.888 [ Bi%e15:15 B3 (REERSE)
15:45 283 150.0 2. 888 RS Bi%e15:45 Bzh (RFA{ERE)
16:15 283 150.0 2. 888 5 Bi%@16:15 Bzh (GRAERESE)
16:45 283 150.0 2.888 | SFHiT016:45 Bz (REEESE)
17:15 283 150.0 2.888 5 Big@17:15 Bzh (RAKRESE)
23t]5943.0 (21)%) 3150.0 32353 %EC: 2080.0, PH: 5.9

TERRHLER 2 STEELRTF (184.0 :

ZRIALBRERE150. 0 ml.

150.0), AIEEHT—@ % XA HS

large discrepency for begining water status (316:99.0), set to 316 ml.

#EEIKECE (1877.0 vs

3697.0) 15




FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-12_0, Day=66 (2025-06—07)

150 A
100 A

50

(¢
200 -
150 -
100 A

50 -

VI, VB3RV, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET

- 3000 ~

2300 116

Warning: lcol [FVI',| "FVO’'] missing

60

- 2000

- 1000

=

- 30

- 28 =

- 26

1.0

Warning: lcol ["WC1',  "WC2'] missing

optEC0=2600. 0, setECB=2080.0

Warning: lcol ['ECB’,| 'ECC’'] missing

0.0

optPH0=6. 5, setPHB=5.9

Warning: lcol ['PHB’,| 'PHC’'] missing
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300 -

200 -

100 A
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Bylnit @70 01:51: ET=2111 Fg=2700.0 Ro=518.0
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